AM.D.G.
PRECALCULUS ACCELERATED

NAME:
Spring Practice Midterm — CALCULATOR ALLOWED

Date:

Period:

Directions:

Complete each of the following NEATLY IN PENCIL in the space provided. Show all work;
round at THREE decimal places. Good luck!

Multiple Choice (3 pts. each)

1. The slope of the line tangent to the graph of f (x) =
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1. Find the domain, zeros, extreme points, and intervals of decreasing for y \/ —2x"+7x" +50x—-175

Domain: A+ It s S0x_ |75 = O=- <><+S>(X—S>@X—7> /Domd.ﬂ

Zeros: X= 5,3 + - + - X & <—(}3,—5} Y [i/ S]
-

VA’s: Nong = " >

V.
4= G S0x-175)"
y'= é(—é)xﬁr)xl F50y-175) (~4i+ \x +50>
Intervals of Decreasing:
- m or U“AQQ‘I‘\Q—\
RS T

Know +hat Huis s zers

Extreme Points:

We alfukuy
whew X2 FS L p Hhe cunve i vertical o) Hlese
'Po\f\\'s
b+ Ui 50 = ) e x = -1.a47, 4. 230
e
not in
’H\t Cla('\a.m
T < <
-~ S i
% > s+ 0-s
] e e e S
X 5 Yo 45



AM.D.G.

PRECALCULUS ACCELERATED NAME:
Spring Practice Midterm — NO CALCULATOR ALLOWED  Date: Period:

Directions: Complete each of the following NEATLY IN PENCIL in the space provided. Show all work;
round at THREE decimal places. Good luck!

Multiple Choice (3 pts. each)

4. The table at right gives the values of the differentiable
functions f'and g and their derivatives at x=1. If X\ f (x) f ’(x) g(x) g’(x)

h(x) = (2f(x)+3)(1+g(x)) , then h'(l) =
- N —
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@The graph of fhas a POE at x=1.
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Free Response (10 pts. each)
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4. List all traits and sketch y =
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5. List all traits and sketch y=Inx.
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6. List all traits and sketch y=a".
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